Parallel Lines and Angles .... Set 2 (without Answers)

Parallel Lines and Slope - Review

1. a]| b and p is a transversal. Fill in the blanks describing the angle relationships with £ 3.

Z3and £ are a linear pair »
Z3and ~ are a linear pair 1 [
aH >
Z3and £ are vertical angles 74
Z3and £ are corresponding angles _ gl—-d - > 86 >
Z3and £ are alternate interior angles /
Z3and / are consecutive interior angles
2. a|| b and p is a transversal. If m 21 =140° find the P
measure of each angle giving one reason for each answer, /
¢ 1/2
a 3 /4 g
ms2= mZL3=
" 5/6 -
b / g
miL4= msLSs=
mLo6= m2LT= mZ8=

Identify each pair of angles as corresponding, alternate interior, alternate exterior, consecutive
interior, or vertical.

3) 4)
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7) 8)

Identify the type of angles and their relationship. Write an equation and selve for x.

9. /‘ ' 10, \
R P < o B
/(x+ 80)° ﬁx— 10)°
b o
/(53:)0 (65 — JC) \ >
type of angles: type of angles:
relationship: relationship:
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11. 12. \
+ % <+ >
-« (2?5 1? » %_ 10)°
e e
type of angles: type of angles:
relationship: relationship:
x= x=

13. Write a 2 column proof.
Given: [||m, mLl=2x-14, mL7 =42’
Prove: x=28

MOA(QW at s

I

CQ@ m!;‘ = m&,r:?

A, Ax-1y = 42

Ho Ax -4 14 = Y3 +iy

5., X =506
oo 2X & 5%
Al 2

T. XY= 3¢
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14. Write a 2-column proof:
Giventhat AB| DC and sl = me 2 prove that me3=med. N

Hatoents Y apang 4\1 78

] >
S, mel=nc2| /.
Q. 212 L3 o2
3. 3. Transibve  frep.
4, £ 2 £y e
- .

d. Te /antthive ﬁ’bff’
(Oa (Qg
Find the values of x and y.
15. 16.

- /118° >

— ¥ >
17. 18.

(2y-30)°

v

v

H o
/
—a—
J/
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Find the slope of each line,

19)

.V

[RUSKE (R R Rt M T
i,

Set 2 (without Answers)

Find the slope of the line through each pair of points.

21y (-6, —41, (8. —18)

22y (~12, 14). (-9, 20)

23. Given the slope of each line, determine the slope of the line that is parallel and the slope of the line
that is perpendicular to the given line.

Line / has a slope of -3. Parallel Line slope:

Line # has a slope of % . Parallel Line slope:

Line ¢ has a slope of -4/5. Parallel Line slope:

Line w has a slope of 0. Parallel Line slope:

Perpendicular Line slope:

Perpendicular Line slope:

Perpendicular Line slope:

Perpendicular Line slope:
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24, Write a 2 column proof; -

Given: [ ” m, m ]l n
Prove: <1 is Supplementary to < 3.

&Oﬁaﬁm‘m
le I\‘ﬂ
J. 21 w Suppe o 22
3. L9 =c03
4, £} SC@?L o 3

[

p—

25, Complete the following proof: ¢ !
Given: [||m ; £3 and £2 are complementary. 1
Prove: £1and /2 are complementary. ~

Statement Reason

1, 1. Given

2. mA2+msL3=90" 2.

3. Zl=./73 3.

4, 4, Definition of Congruent Angles

5. mL24mA1=90

5.

6. Definition of Complementary

Angles




